LK Abitur 2007/I “Taking liberties” Questions – Mistakes
Correct the sentences and write down the corresponding error code from my handout “Questions on the Text”. All answers refer to the first question.
1. 1a, 4 [First sentence] One category of anti-social behaviour is aggressive behaviour . 

2. 15g They disturb people with “[…] blasting music” (34).
3. 1a [First sentence] In the writer’s opinion ASBOS are very bad. 
4. 13a They disturb people with blasting music.

5. 2 It IS It was enough to make sounds “like a werewolf” (53) to get an ASBO.
6. 15c Local teenagers have “terrorised passers-by” (33-34).
7. 3 Categories: aggressive / rude / impolite

8. 13b They disturb people with „blasting music“.
9. 7b As I have already said before ASBOS are used too often. 
10. 12a In my opinion ASBOS work in the way that …
11. 14a They disturb people with “blasting music”.

12. Wrong line-numbers 34 They disturb people with “blasting music” (37).

13. 14b They disturb people with very loud music.

14. 14h Anti-social behaviour has increased in the last ten years (11ff.)

15. 14c (l. 34) They disturb people with “blasting music” (ll. 34).

16. 14i They disturb people with “blasting music”. (34)

17. 15d Local teenagers have “terrorised […] music” (33-34).


